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PART A: Grammar
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

T 31- Over the history of the galaxy, hundreds of millions of solar-type stars have run out of hydrogen fuel

......... red giants and white dwarfs.
1) their days ended in 2) by ending their days of
3) and ended their days as 4) thereby their days ending as
W& 32- ... , huge artillery pieces were demolishing castle walls with projectiles the weight of an upright

piano.
1) Centuries before the development of effective cannons
2) As of centuries ago when developed effective cannons
3) Having developed effective cannons centuries ago
4) Effective cannons developed centuries ago

R 33-In this era of biotechnology, especially, novel organisms can be engineered ......... .

1) with vaccines and antibiotics against which are useless
2) for vaccines and antibiotics be useless against them

3) useless against which are vaccines and antibiotics

4) against which vaccines or antibiotics are useless

R 34- The word fephra, from the Greek word meaning ash, has come into use among geologists to describe

the assortment of fragments, ranging from blocks of material to dust, ......... ejected into the air during a
volcanic eruption.

1) are 2) that is 3) being 4) which are
W 35 . the advance guard, the trailblazers — explorers, trappers, and mountain men, hide and

tallow traders, freelance adventurers, the military.
1) First to arrive was 2) Those first arrived there were
3) Arriving first were 4) There were those first arrived

TR\ 36- The strike by the factory workers in Mexico poses a dilemma for the ruling party, which must choose

between ......... its union ally or undermining its fight against inflation.

1) them alienating 2) whether alienating 3) alienating 4) the alienating of
¥ 37- It's only after you and your friends go through a lot together, good or bad, ......... become close
friends.

1) then can you 2) can you 3) that you can 4) such that you can
¥\ 38- The difficulty in designing nanoscale circuit boards lies in keeping electrons from leaving .........
they flow.

1) the material through which it conducted and 2) conducting the material which through that

3) the material conducting through which 4) the conducting material through which
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PART B: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

T 39- You'd better ......... all your facts and figures so that you have a convincing case when you meet
with the boss.
1) marshal 2) disabuse 3) condone 4) bowdlerize
2 40- Todd hated to drive with his Uncle Jasper, a notorious ......... , who complained non-stop about the
air-conditioning and Todd's driving.
1) naysayer 2) curmudgeon 3) pushover 4) soothsayer
TR 41- In order to turn around its ailing company and concentrate on imaging, Eastman Kodak .........
itself of peripheral businesses in the areas of household products, clinical diagnostics, and pharmaceuticals.
1) diversified 2) debunked 3) disavowed 4) divested
R 42- Lavinia felt sure that water in all foreign countries, including Canada, was not ......... , S0 only
bottled water touched her lips while she was on the road.
1) limpid 2) potable 3) stagnant 4) murky
T2 43- The executives at the computer software and technology convention found the keynote speaker's
remarks on the future of high tech startups to be so ......... that they booed him off the stage.
1) tremulous 2) ubiquitous 3) platitudinous 4) hell-bent
T 44- His seeming recovery of his better self was nothing but a ......... , his fawning courtesy a grimace, his
suave Kkindliness a mockery, his effusive benevolence a snare.
1) sham 2) odyssey 3) peregrination 4) recuperation
™ 45- The ...... crowd attacked the platters of cheeses and hors d'oeuvres as if they hadn't eaten in weeks.
1) bovine 2) ursine 3) equine 4) lupine
R 46- In the 19th century, Thomas Carlyle called economics "the ......... science,”" in part because of
Malthus's theory that population growth would outpace our natural resources, causing widespread famine.
1) dismal 2) flashy 3) marginal 4) benign
TR 47- From the battle's opening volleys to its bloody conclusion, the forces of destruction razed a path
through the city, ultimately leaving behind an eerie ...... where there once had been streets and squares
teeming with life.
1) ecstasy 2) forte 3) stillness 4) aurora
T2\ 48- When the guilty verdict was announced, the guards promptly ......... the defendant by the shoulders
and took him away.
1) dallied 2) pinioned 3) requited 4) bedazzled
R 49- Procedural justice and fairness are crucial to democracy—they ......... healthy party competition

and help ensure citizens' faith in a democratic system.
1) extrapolate 2) undergird 3) skirt 4) enfranchise

A 50- The queen's attendants insisted that she'd never made a bad decision during her entire reign, but

the queen ignored this puffery, recognizing it as the ......... chatter of toadies.
1) fickle 2) derisive 3) analgesic 4) unctuous
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We use as to tell what someone or something is. In this item the author uses as to indicate that solar-type stars are
red giants and white dwarfs. This eliminates options 1 and 2. Also, option 1 is wrong because it is not possible to
connect two independent clauses without the use of connectors or conjunctions. Option 4 is wrong because when
we use an ing-verb (ending in this case) with thereby, it is necessary that thereby be preceded by comma. Last but
not least, option 3 is the only choice that uses proper parallel structures:

...solar-type stars have run out of hydrogen fuel and (have) ended their days as .....

D ay )f =YY
In this item, the phrase centuries before the development of effective cannons is an adverbial phrase moved to an
initial position for greater emphasis.
Also compare: Huge artillery pieces were demolishing castle walls with projectiles the weight of an upright piano
centuries before the development of effective cannons.

i o A 35 51 plasomn VY
This sentence is adapted from a book by Chuck Missler. The sentence, as used in the book, reads:
In this era of biotechnology, especially, novel organisms can be engineered against which vaccines and antibiotics
are useless.
Though structures like this are common, they are not, grammatically speaking, correct. As you know, an adjectival
clause must be as close as possible to its antecedent. As a result, the adjectival clause against which vaccines and
antibiotics are useless must be as close as possible to its antecedent novel organisms, but it is not. Actually, this
sentence is correct if it is worded:
In this era of biotechnology, especially, novel organisms, against which vaccines and antibiotics are useless, can
be engineered.

«Y» 4...‘; _Yf

Whenever a phrase or clause is inserted between commas, it can be deleted because it provides additional
information and as a result doesn’t affect the grammatical structure. Therefore, in this item, we are allowed to
delete the phrases from the Greek word meaning ash and ranging from blocks of material to dust which do not
affect the sentence structure:

The word tephra has come into use among geologists to describe the assortment of fragments .... ejected into the
air during a volcanic eruption.

Now it is easier to notice that the blank needs a relative pronoun (which or that) as well as a singular verb that
agrees in number with assortment (i.e. is). This eliminates options 1 and 4. Option 3 is wrong because that is
ejected is usually reduced into ejected not the unnecessarily long phrase being ejected.

«F g a5 ¥
Whenever a sentence begins with an adjective, subject and verb are inverted.
Gone are the days when she was beautiful.
First to inhabit the barren land are moss and lichen.
Therefore, the first and third options can be both correct, also considering the fact that we can use infinitives after
ordinal numbers. Options 2 and 4, however, are clearly incorrect. The difference between the first and third options
is that the first one uses a singular verb (was) and the third one uses a plural verb (were). Therefore, what
determines the correct choice is the subject that follows the blank. Sazemane Sanjesh considers choice 1 correct.
This choice is only correct if we consider as appositive the phrase the trailblazers-explorers, trappers, and
mountain men, hide and tallow traders, freelance adventure, the military. Otherwise, option 3 can also be correct.
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We use either ...or to connect two choices, not whether ...or (so option 2 is wrong). Also, the coordinate
conjunction or requires that we take rules of parallelism into account. Thus, option 4 is wrong because the
alienating of its union ally and undermining its fight are not parallel, but alienating its union ally and undermining
its fight against inflation are. Finally, Option 1 is wrong because them is redundant.

«¥» 4....; YV

This sentence is an example of an It-cleft sentence. The information that comes after it is emphasized for the
reader. The clause which follows the it-clause is connected using that and it contains information that is already
understood.

It was to the dance that Sam wore his best suit.

A: Would you like to borrow this book?

B: No, it’s the other book that I want to read.

It is only after you and ..... that you can ....

«F» 4y 35 YA

The first option is incorrect for numerous reasons, the easiest one being tense inconsistency. In this option
conducted is in a past form while flow is in present form. Option 2 is incorrect because we do not use gerunds
(conducting) immediately after leave. Option 3 is wrong because it uses conducting, which is a transitive verb, as if
it is intransitive. We can ask: conducting what? Even if we consider conducting an adjective, it is wrong because it
uses conducting after material. Option 4 is the only acceptable choice. Here the conducting material means
0dS Coloa oole.

b iy loaS Bl S o 0,5 & jlan] ud, S8y U (S5 (Bdilolw) (5 35 oo |y 65,1 5 el pled ol gs €D 4y 35 ¥
Marshal: to organize all the people or things that you need in order to be ready for a battle, election etc
10855 35 rae ¢35 0 ep0ls ol
Disabuse: to persuade someone that what they believe is not true {551 ;o oleil I}
Condone: to accept or forgive behavior that most people think is morally wrong{ s,5 cogeia 8,5 Jolel)

Bowdlerize: to remove all the parts of a book, play etc that you think might offend someone {55 jsuiles}

9 192 900 plas )90 10 51y S A5 g @R Hlen 9,8 Sy gl (a7 WIS R azd Glages b Sl Cusgs (LS € Ty 4y F-
Dise N Sl

Naysayer: someone who says something is not possible, is not good, or will fail{«a & o atues a5 S5}

Curmudgeon: an old person who is often in a bad mood { ziews pol}

Pushover: who is easily persuaded or influenced or defeated { s oo}

Soothsayer: someone who is believed to be able to say what will happen in the future {s5c.c}

sloahs o) Gialaculed 00,5 €S1045 Cpatunl 3 35 joio (5,8 0 pgaal g QB 395 odydeaw] CS 1 4 lho 4Ll gl «F» 4y 3F F)
S5 By )ls 5 s3lely (Sl LY gaxe
Diversify: to start to include more different types or things { x5l geief

Debunk: to show that something is less important, less good, or less true than it has been made to appear

10005 liSe0 s (5955 5,
Disavow: to say that you are not responsible for something, that you do not know about it, or that you are not
involved with it { 5,5 Il ¢85 Lol
Divest yourself of something: to sell or give away something you own {:s,5 g, (3,5 s}
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Limpid: clear and transparent { J¥; .slo}

Potable: clean and safe to drink {5 b Socse)

Stagnant: (of water or air) not flowing or moving, and smelling unpleasant {.s1,}

Murky: dark and dirty or difficult to see through {505}

S oS (5508 4y Sigla (lac ] bl oaisl 9550 50 1 00ty sS (LS (5 yigmals laadliyy 5 (5399555 0,58 LI jailiiss € w35 FY
WLy gy oo s 3l 1) gl Slay g ol b 4 auzdl

Tremulous: shaking slightly, especially because you are nervous{ ; J}

Ubiquitous: present everywhere {l> aea ,5 84> 90f

Platitudinous: coming from platitude. boring and having no meaning because of being said so many times
before {eslsll i}

Be hell-bent on sth: to be extremely determined to do something, without considering the risks or possible
dangerous results { o}

9 955 el 3> Ghuilsge Sg Joololl g SUSE (iiaelles ol g SUS g 390 U 3> Sz (o alba A5 H g dgge €D 43S FF

Sg b g by e GBlales S
Sham: something that is not what it seems to be and is intended to deceive people, or someone who pretends to be
something they are not { sIsy;q0}

Odyssey: a long, exciting journey {;l,s g ,9o i}
Peregrination: a long journey { s¥sb ,auf
Recuperation: the process of becoming well again after an illness or of getting back your strength, health, etc
{ossee}
Dgbs0 3y Sy 4 (V) aniS 4)Sg 0 S oo eolial @/ aN 51 A x4 B glx 5l U8 b Sl b iy

ilod 950 138 Col atan vz KN AS Wio )8 ales 138 iy 5 i ead 41 (5,5 w5 g 0550 Cumaz «FP 4y 35 FO
Bovine: slow and slightly stupid, like a cow {us (a3}
Ursine: related to bears, bear-like {_.,> 4 Lg,of
Equine: connected with horses, or appearing similar to a horse{ ol 4 b o}

Lupine: ravenous, having characteristics of a wolf {ai. 5 wus,sf

el g 3gh i (b @l wd) Sl g or Sune 0B Sy &S (G ogille )5 bl BV (eleg pN R 8 0 € aly 35 FF
Sl €SS Mo olen 1) slall wle w0 5 Sy oxdad

Dismal: bad and unsuccessful {;.Sleé «S0,b o}

Flashy: big, bright, or expensive, and intended to be impressive {5, 5 §,), wauSo s}

A marginal change or difference is too small to be important { clasl> S}

Benign: kind and gentle {cab o> (ol o)
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Ecstasy: a feeling of extreme happiness {u>s}

Be somebody’s forte: to be something that you do well or are skilled { 5 > « o}

Stillness. Coming from still: total lack of movement or changing of position { s}

Aurora: a natural appearance of colored light in the sky, that is usually seen in the latitudes {ps sorw}

53 Ay &5 15 ogie T8 (SUL) L pele s 3l o gSoma (s, (85 «P 435 _FA
Dally: to take too long to do something, especially to make a decision{ s 5 u>}
Pinion: to hold or tie someone’s arms or legs very tightly, so that they cannot move freely { iw |, oo olws)
Requite: to give or do something in return for something done or given to you { s, ;) >}

Bedazzle: to impress someone very much, because of being very intelligent, beautiful, etc. { 5,5 jocef

@y poye plarl 5 wds g0 JSB 1) Wil (i 2ol So gaarly Ll aiis (ool Sg00 5l qage polis slang, (Brbe 5 Sl €T a5 F4
S (o0 el (gl Sg00 pllas

Extrapolate: to use facts about the present or about one thing or group to make a guess about the future or about

other things or groups { s, obatuslas)

Undergird: to support something by forming a strong base for it {5 cusis}

Skirt: to avoid talking about an important subject, especially because it is difficult or embarrassing — used to show

disapproval { 5,5 ;I z>I}

Enfranchise: to give a group of people the right to vote{ s i, &>}

ol 98,5 = Sabiw 5 @i cpl 4 aSle Lol a8 S5 caliil 5 0y peenad 095 Cidali Jsb ;0 350 ol wingr e aSle ylopdle «F» asy 35 0

S8 L s il palliie osble o5,
Someone who is fickle is always changing their mind about people or things that they like, so that you cannot
depend on them {Gs _; « codes}

Derisive: showing derision { j.l seues}
Analgesic: used to stop people from feeling pain, or relating to the stopping of pain {_z5s,s ¢S}

Unctuous people or behavior expresses too much praise, interest, friendliness, etc., in a way that is false and
unpleasant {51, il sl

«¥'» 4..;“)5 -0

To determine the primary purpose of the passage, we must look at the passage as a whole. The first paragraph
explicates a phenomenon known as willingness to communicate (WTC). The second paragraph is concerned with
research into the variables bearing on WTC. Thus, the third option is the best choice.

«F» 4y 35 _0Y

The phrase according to the passage suggests that the answer is explicitly given in the passage. The first paragraph
states that WTC is the immediate antecedent of actual communication behavior, which suggests that WTC
immediately precedes actual communication behavior.
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The second paragraph begins with: There have been three major studies investigating WTC in classroom contexts.
The second paragraph only discusses one of these studies: that by Dornyei and Kormos (2000). Therefore, we can
expect that the third paragraph of the passage will probably discuss another study that deals with WTC in
classroom context.

«Y¥» &y )f ) 4

The phrase according to the passage suggests that the answer is explicitly given in the passage. According to the
second paragraph the measure of WIC and the number of turns taken while performing the communicative tasks
were found to be positively related only in the case of learners who expressed positive attitudes to the task.

«¥'» M}f YA

The phrase the latter best refers to learners’ attitudes towards the specific tasks.

«\» M)f _0f

To determine the organization of the passage, we must consider the passage as a whole. The first paragraph
introduces a general concept (moral development). The second and third paragraphs are concerned with the nativist
theories of moral development and the fourth paragraph deals with the learning theories of moral development.
Therefore, it can be claimed that the passage as a whole is concerned with introducing a general concept and
presenting two conflicting theories that explain it.

«T» @y 385 OV

The author refers to watching violent videos to provide further support for the preceding statement that all theories
of moral development believe that no single cause can account for either moral or immoral behavior or, in other
words, the fact that morality is not unidimensional.

«F» ay )f _OA

It is easy to notice that there is no process time order in the passage. This is while the author’s reference to Jerome
S. Kagan and Mary D. Ainsworth indicates appeal to authority. The author’s reference to the nativist and learning
theories is indicative of comparison and contrast. The author’s reference to the fact that Some theories focus on
natural biological forces, others stress social influence and experience; still others, the judgment that results from
children's intellectual development also means that this passage is based on classification.

«» &y 35 =04

The third paragraph is actually meant to further support the nativist theories which are discussed in the second
paragraph.

Note: In questions like this, there is often a distractor that contains the word “qualify”’. Mostly, that choice must be
eliminated, though it sounds deceptive.

There is no discussion of implications, nor any evaluation of findings in paragraph 3.

«F» 4.,.,)5 5

The phrase It could be predicted neither from their conduct in previous situations .... in this where-to-be-added
sentence is consistent with the main tenet of the learning theories of moral development: moral behavior is context-
bound, varying from situation to situation almost independently of stated beliefs. Also, the pronoun /¢ in this
sentence refers to children’s behavior (para. 4) and their refers to children (para. 4). This means that the sentence
must be added to the end of paragraph 4.
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W\ 1- Language learners' setting long and short-term goals is an example of ........ strategies.
1) affective 2) cognitive 3) linguistic 4) metacognitive

W’ 2- Analytic syllabi are organized based on ........ .

1) grammatical structures 2) learning purposes
3) linguistic difficulty 4) reasoning abilities
A 3- Dictogloss is a technique used in ........ .
1) Desuggestopedia 2) Community Language Learning
3) Content-based Instruction 4) Total Physical Response

. 4- How are errors treated in total physical response?
1) All errors are expected and tolerated.
2) Errors are initially tolerated but later corrected.
3) Correction of all types of errors starts from the very beginning.
4) Initially major errors and later also minor errors are corrected.

T 5- Which one is NOT an underlying principle of Theme-based Instruction?

1) Automaticity 2) Extrinsic motivation
3) Communicative competence 4) Meaningful learning
R, 6- The "Language Ego Principle" is an instance of ........ principles.
1) affective 2) cognitive 3) linguistic 4) metacognitive

T 7- According to Maslow's hierarchy of needs, which need should be satisfied before others to propel the
individual to higher attainment?

1) Affection 2) Belongingness 3) Esteem 4) Protection
W\ 8- According to ........, "motivation is highest when one can make one's own choices".

1) drive theory 2) self-control theory

3) self-confidence principle 4) principle of strategic investment

T 9- Which of the following methods does NOT allow the use of students' native language in the
classroom?

1) The Silent Way 2) Desuggestopedia

3) Direct Method 4) Grammar-Translation Method

¥, 10- Which of the following items defines learning style?
1) Consistent tendencies that differentiate an individual from others.
2) Methods for manipulating certain information.
3) Specific modes of operation to achieve a goal.
4) Particular methods of approaching a task.

A 11- Which set gives examples of controlled techniques of language teaching?

1) Brainstorming, drill, reading aloud 2) Drill, dictation, narrative recitation
3) Storytelling, dictation, discussion 4) Narrative recitation, discussion, drill

W 12- What type of teaching program is targeted at the students whose native language reading and

writing skills are very poor or non-existent?
1) literacy programs 2) Survival curricula
3) vocational programs 4) Pre-academic programs
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1- Choice "'4"
In Oxford’s classification of learning strategies, goal setting is a metacognitive strategy.

2- Choice "2"

In 1976, Wilkins distinguished between two types of syllabi—synthetic syllabi and analytic syllabi. Analytic
syllabi are organized around the purposes for which people are learning language and the kinds of language
performance that are necessary to meet those purposes

3- Choice "3"
Dictogloss, process writing and graphic organizers are typical activities in content based instruction.

4- Choice "'4"

In TPR, it is expected that students will make errors when they first begin speaking. Teachers should be tolerant of
them and only correct major errors. Even these should be corrected unobtrusively. As students get more advanced,
teachers can ‘fine tune’—correct more minor errors.

5- Choice "2"
The basic underlying tenets of theme based instruction include:
Automaticity, intrinsic motivation, communicative competence and meaningful learning

6- Choice 1"
Topics such as ego, empathy, anxiety, attribution theory and so on fall under the realm of affective factors in language
teaching.

7- Choice "'4"

Self-actualization

Esteem: Strength

Esteem: Status

Love Belongingness Affection
Safety Security Protection Freedom from Fear
Air Water Food Rest Exercise
8- Choice ""2"
This is a tenet of self-control theory.
9- Choice "3"

In Direct Method, native language is not allowed to be used and meaning is presented through demonstration. Nor
is translation allowed. However, in methods such as GTM, the silent way, the suggestopedia and CLL, the L1 is
allowed.

10- Choice "1™

Style is a term that refers to consistent and rather enduring tendencies or preferences within an individual. They are
those general characteristics of intellectual functioning that pertain to you as an individual, and that differentiate
you from someone else.
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Linguistics (Questions 1 -15)

T 1- What is the most accurate definition of a ""heritage language'?

1) A language with which a person has a strong cultural connection through family interaction, but that isn't
learned natively.
2) A language with which a person has a strong cultural connection through social interaction and that is
learned natively.
3) A language with which a person has a strong cultural connection through family interaction and that is
learned natively.
4) A language with which a person has a strong cultural connection through social interaction, but that isn't
learned natively.

W 2- Psycholinguistics is .......... .

1) concerned with linguistic performance or processing, which is the use of linguistic knowledge
(competence) in speech production and comprehension

2) concerned with linguistic performance or processing, which is the use of linguistic knowledge
(competence) in speech production

3) concerned with linguistic performance or perception, which is the use of linguistic knowledge
(competence) in speech comprehension

4) concerned with linguistic performance or perception, which is the use of linguistic knowledge
(competence) in speech production and comprehension

. 3- The word "kine", the middle English irregular plural of "'cow", has vanished and been replaced by

regular ""cows through a process called .......... .
1) leveling 2) equation 3) regularization 4) equilibration

W4- ""Swim™, basically a verb (as in 'Can you swim'), may be used as a noun, as in 'have a swim'. All the
following items refer to this process except .......... .

1) Conversion 2) Alteration 3) Functional shift 4) Zero-derivation
W 5- Lithuanian is a language with a .......... root.

1) Hellenic 2) Slavic 3) Baltic 4) ltalic
W 6- In the sentence "'Greyhounds | love very much™, the process of .......... can be seen.

1) subject transfer 2) topicalization 3) subject fronting 4) topic movement

. 7- Which statement is FALSE about American Sign Language (ASL)?

1) ASL is a fully developed language, and signers create and comprehend unlimited numbers of new
sentences.

2) ASL was introduced by the great educator Thomas Hopkins Gallaudet.

3) ASL is an outgrowth of the sign language used in Britain.

4) ASL was brought to the United States in 1817.

™ 8- Which statement is FALSE about the pseudo-writing system?

1) Another name for pseudo-writing is false writing.

2) It can be related to any actual alphabet or spoken language.

3) It is an alphabet made to look real for such purposes as representing alien dialogue in comic strips.

4) 1t is impossible to say whether authors of pseudo-writing are drawing on their linguistic competence or
their artistic muse.
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1- Choice 1"
A heritage language learner is someone who was raised with a strong cultural connection to a language through
family interaction — for example, a language such as Polish spoken by grandparents who were immigrants — and
who decides at some point to study that language more formally, for example, at university.

2- Choice "1™

Psycholinguistics is the area of linguistics that is concerned with linguistic performance—how we use our linguistic
competence—in speech (or sign) production and comprehension. The human brain not only acquires and stores the
mental lexicon and grammar, but also accesses that linguistic storehouse to speak and understand language in real
time.

3- Choice "1"
Fully irregular forms, outside any pattern, are especially targets of leveling. The stem gives an example.

4- Choice "2
Conversion, functional shift, zero-derivation, and category change all refer to the same process.

5- Choice "3"
Both Latvian and Lithuanian have Slavic root.

6- Choice ""2"
Topicalization is a transformation that moves a syntactic element to the front of a sentence: e.g., deriving
Greyhounds I love very much from I love greyhounds very much.

7- Choice 3"

The major language of the deaf community in the United States is American Sign Language (ASL). ASL is an
outgrowth of the sign language used in France and brought to the United States in 1817 by the great educator
Thomas Hopkins Gallaudet.

8- Choice "2

Sometimes called ‘false writing’, a pseudo-writing system is based on an artificially constructed alphabet made to
look real for such purposes as representing alien dialogue in comic strips. Such alphabets are often asemic
(meaningless) and unrelated to any actual alphabet or spoken language.

9- Choice "1™

It is, however, no accident that forms such as [fsig] or [rnig] do not exist or are unlikely ever to exist. They have
been formed without obeying some constraints on the sequence or position of English phonemes. Such constraints
are called the phonotactics.

10- Choice "'2"
Other languages, of course, borrow terms from English, as in the Japanese use of suupaa or suupaamaaketto
(“supermarket”) and taipuraitaa (“typewriter’).




	2807
	2806
	استعداد و زبان گروه زبان
	استعداد و زبان گروه زبان
	21
	31
	45
	54
	63
	75
	107

	118

	125
	136
	243
	252

	1
	2
	3
	4

	1
	2
	3
	4



